
09/15 EB

w
w

w
.k

ai
se

r-
ku

eh
ne

-p
la

y.
co

m
   

Te
l. 

+
49

42
54

 - 
93

15
0 

K
ai

se
r 

&
 K

üh
ne

 F
re

iz
ei

tg
er

ät
e 

  D
-2

73
24

 E
ys

tr
up

C

Scale Date

K
 &

 K
 In

st
al

la
tio

n

Page

0-34352-501
Item-No. Description

K&K Water play structure 1:50 1/4



6. For installation of the pre-assembled components and/or single parts,

the screws slightly have to be lubricated with installation paste!

Tighten all screws after having aligned all components.

Necessarily insert all attachment parts before

tightening the screws.

It is NOT possible to insert them afterwards.

09/15 EB

w
w

w
.k

ai
se

r-
ku

eh
ne

-p
la

y.
co

m
   

Te
l. 

+
49

42
54

 - 
93

15
0 

K
ai

se
r 

&
 K

üh
ne

 F
re

iz
ei

tg
er

ät
e 

  D
-2

73
24

 E
ys

tr
up

C

Scale Date

K
 &

 K
 In

st
al

la
tio

n

Page

0-34352-501
Item-No. Description

K&K Water play structure 1:50 2/4



*

*

09/15 EB

w
w

w
.k

ai
se

r-
ku

eh
ne

-p
la

y.
co

m
   

Te
l. 

+
49

42
54

 - 
93

15
0 

K
ai

se
r 

&
 K

üh
ne

 F
re

iz
ei

tg
er

ät
e 

  D
-2

73
24

 E
ys

tr
up

C

Scale Date

K
 &

 K
 In

st
al

la
tio

n

Page

0-34352-501
Item-No. Description

K&K Water play structure 1:50 3/4



09/15 EB

w
w

w
.k

ai
se

r-
ku

eh
ne

-p
la

y.
co

m
   

Te
l. 

+
49

42
54

 - 
93

15
0 

K
ai

se
r 

&
 K

üh
ne

 F
re

iz
ei

tg
er

ät
e 

  D
-2

73
24

 E
ys

tr
up

C

Scale Date

K
 &

 K
 In

st
al

la
tio

n

Page

0-34352-501
Item-No. Description

K&K Water play structure 1:50 4/4



Item:

Location:

Order:

Building Project:

0-34352-501
K&K Water play structure

List of screw connections

1294327

Page 1 / 3

Fixing of platform at stainless steel post9 x SFES1200001
nut on platform site

per SC Total K&K-Item Marking

Lock nut M12 DIN985 A21 x 9 x 3430021
.

and blue colour mark
Cheese head screw M12 x 125 with pin1 x 9 x 2030651

.

Standard bolting of add-on pieces42 x SFES1210001
for fastening of ES120 add-on pieces at steel posts (except platforms)

per SC Total K&K-Item Marking

for fastening of ES120-add-on pieces at steel posts
(except platforms)

Cheese head screw M12x140 with pin1 x 42 x 2030168
.

Screwpump fixing to RS120 junction1 x SFAS1260004

per SC Total K&K-Item Marking

Dome head security screw  M8 x 20 Resistorx A22 x 2 x 3400673
.

Screwpump fixing to conveyor basin1 x SFAS1040009

per SC Total K&K-Item Marking

Hexagon cap nut  M10 DIN986  A22 x 2 x 3430011
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

0-34352-501
K&K Water play structure

List of screw connections

1294327

Page 2 / 3

Water trough (S) at support1 x SFAS1040006

per SC Total K&K-Item Marking

Dome head security bolt M10x50 Resistorx A22 x 2 x 3400286
.

Tighten cylinder base plate on concrete foundation12 x SFAS1040011
with stone bolt

per SC Total K&K-Item Marking

stone bolt/washer/nuts
Fastening set water play equipment M10x160 A21 x 12 x 1040272

.

Half tent roof 3 x 0.8 m1 x SFAS1240011
HPL-plates at stay tubes and lantern tower onto HPL-plates

per SC Total K&K-Item Marking

Washer Ø 10,5 DIN 125 B A218 x 18 x 3430014
.

Dome head security screw  M8 x 20 Resistorx A21 x 1 x 3400673
.

Dome 1/2 tent roof 6 x 45° HPL1 x 1 x 6240030
.

Washer Ø 8.4 DIN9021 A21 x 1 x 3430102
.

Hexagon cap nut  M10 DIN986  A218 x 18 x 3430011
.

Mushroom head screw square neck M10x30 DIN 6018 x 18 x 3400138
.

Reinforcing steel for stainless steel posts8 x SFES1270001

per SC Total K&K-Item Marking

Reinforcing steel Ø 10 x 310 DIN 4882 x 16 x 2130000
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

0-34352-501
K&K Water play structure

List of screw connections

1294327

Page 3 / 3

Security TORX wrench TR401 x SFWZ0000001

per SC Total K&K-Item Marking

Security TORX wrench TR401 x 1 x 3490081
.

Security TORX wrench TR451 x SFWZ0000002

per SC Total K&K-Item Marking

Security TORX wrench TR451 x 1 x 3490033
.

Hexagon insert socket driver 10mm 1/2"1 x SFWZ0000009
with borehole for Pin

per SC Total K&K-Item Marking

with drill hole for Pin
Hexagon insert socket driver 10 mm 1/2"1 x 1 x 2030170

.

Lubricating metal (30g box) incl. brush1 x SFWZ0000012

per SC Total K&K-Item Marking

Lubricating metal box à 30g1 x 1 x 5300039
.

Brush for lubricating metal1 x 1 x 5200026
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24


